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8 1 Receiving Antenna

we know from lecture

Diff p that we want an impedance
match to minimize reflection

Antti

we want to solve
for power from Ohm's law

V I Rr Rep Ike

I YartRlPyertie Re

classic peak is at O derivative problem

R RÉÉtpet U'Re Rr't Rr Retro

Er 0 ftp.ifeng
z da b t a rdb

o EY i

ftp I 2Re Re Rr

Re_ nice



Jah e area

infinitesnel
0 is meaningee

tu ji I
tff

an
I

sino

ins.org.eg

may

FEI p
total energy radiated ofhigh

Therefore gain is

0 90 so singo Igain is
g ypfgjg.JP

mat is at

defined A rat to simplify
as Poyntingmay no pui dependence

Tl
sina.E.y.F.FI

Yy t Freer



Aref we know Prat
Rra

e Pma A ft

IF E'na A

A EYE if
we are given

raa

Read If I

II I
for an infinitesnel length d E will

be constant not across it so we

know from last week v2 ft d
U Emas d

ME I xÉ
14Th




